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B.A./B.Com./B.Sc. DEGREE EXAMINATION, DEC. – 2016 

Third Year 

SCIENCE & CIVILIZATION  

Time : 1½ Hours  Maximum Marks: 50 

          SECTION - A  

 Answer any two of the following in sixty lines (2 × 13 = 26) 

 
Q1) Explain the contribution of Pythogoras to the mathematics.  
 Væü×ìý™èþ Ô>çÜ̂ AÀÐ@þ– ®̈ÌZ Oò³£éVæüÆæÿ‹Ü H Ñ«§æþ…V> §øçßý§æþ ç³yézÆæÿ$. 
Q2) Write the history, synthes and drug action of penicillin. 
 ò³°ÞÍ¯Œþ Äñý¬MæüP ^èþÇ{™èþ, E™èþµ†¢ Ð@þ$ÇÄ¶ý¬ “MæüÐ@þ*ÖË™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
Q3) Explain the following  

 a) Insulin  b) Cortisones 
 “Mìü…¨ Ðé°° ÑÐ@þÇ… è̂þ…yìþ. 
 a) C¯@þ$ÞÍ¯Œþ  b) M>ÇtgZ Œ̄þ 
Q4) Write about the NPK fertilizers. 

 NPK GÆæÿ$Ð@þ#Ë¯@þ$ Væü*Ça ÑÐ@þÇ…^èþ…yìþ. 
Q5) Explain bio-war 
 iÐ@þ Ä¶ý¬§éª°² ÑÐ@þÇ… è̂þ…yìþ. 
Q6) Explain non-conventional energy sources with suitable examples. 
 Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ Ð@þ¯@þÆæÿ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
                             SECTION - B (3 × 4 = 12)  

 Answer any three of the following 

Q7) Write short notes: 

  

 a) Camera 
  MðüÐóþ$Ææÿ 
 b) Antiseptics 
  H…sìýòÜí³tMŠüÞ 
 c) Radium therapy 
  ÆóÿyìþÄ¶ý$… _Mìü™èþÞ 
 d) Detergents 
  yìþrÆðÿj…sŒýË$ 
 e) OTEC 

   OTEC 

 f) Green Revolution 
  çßýÇ™èþ Ñç³ÏÐ@þ… 
 g) Hybridization 



   

  çÜ…MæüÈMæüÆæÿ×ýÐ@þ¬ 
 h) Gizah pyramid 
  Xgê í³ÆæÿÑ$yŠþ 
 i) Compass 
  Mæü…´ë‹Ü (yìþMæü*Þ_) 
                                  SECTION - C (3 × 4 = 12) 

Answer all Questions 

Q8) Fill in the blanks 
  a) Permissible Noise levels at sensitive areas _________. 

  çÜ$°²™èþOÐðþ$¯@þ {ç³§óþÔ>ËÌZ {ç³†´ë¨… è̂þºyìþ¯@þ Ô¶ýº® ™èþÆæÿ…V>Ë ÑË$Ð@þ _________. 
 b) M.S.  Swaminathan is associated with  

  GÐŒþ$. G‹Ü  ÝëÓÑ$¯é£Šþ¯Œþ Ðóþ°™ø A¯@þ$çÜ…«§é¯@þOÐðþ$ _________ Ð@þ#¯é²Ææÿ$. 
  c) Narcotic drugs meant for _________. 

  Ð@þ$™èþ$¢MæüÍW…^óþ LçÙ§éË$ A…sôý _________. 
  d) DDT was discovered by _________. 

  yìþyìþsìý GÐ@þÆæÿ$ Mæü¯@þ$Vö¯é²Ææÿ$ _________. 

 

Q9) Choose the correct answer 
 a) The Heart of the computer is  

   i) Key board 

   ii) CPU  

   iii) Mouse 

   iv) Printer 

  i) Mîü»ZÆæÿ$t 
   ii) CPU 

  iii) Ð@þ◊‹Ü 
  iv) {í³…rÆŠÿ 
  b) Naturally Occur Vitamin, 

   i) Vit - C 

   ii) Vit - A 

  iii) Vit – D 

  iv) Vit – B    

    
  
   i) ÑrÑ$¯Œþ & íÜ 
  ii) ÑrÑ$¯Œþ & G 
   iii) ÑrÑ$¯Œþ & yìþ 
  iv) ÑrÑ$¯Œþ & ¼ 
 

 c) Fat soluble vitamin 

   i) Vit - B 



   

   ii) Vit – C 

   iii) Vit – A 

  iv) Vit – A & D 

   i) ÑrÑ$¯Œþ & ¼ 

   ii) ÑrÑ$¯Œþ & íÜ 
   iii) ÑrÑ$¯Œþ & G 
  iv) ÑrÑ$¯Œþ & G Ð@þ$ÇÄ¶ý¬ yìþ 
 d) Which substance is used for blasting 

   i) Rubber 

   ii) Steel 

   iii) Nitrate 

   iv) Dynamite 

 
   H ç³§éÆ>®°² ÑÝùµr¯@þÌZ Eç³Äñý*WÝë¢Ææÿ$. 
  i) Ææÿº¾ÆŠÿ 
  ii) ïÜtÌŒý 
   iii) Ō ðþ{sôýsŒý 
   iv) Oyðþ¯@þOÐðþ$sŒý 
 

 Q10) Match the following 
  a) Eutrophication Pesticide 

  b) PV cells Communication 

  c) Satellites Ponds 

  d) DDT  Solar energy  

  a) Ä¶ýÊ{sZíœMóüçÙ¯Œþ “MìüÑ$çÜ…àÆæÿM>Ë$ 
  b) PV çœ$rM>Ë$ çÜÐ@þ*^éÆæÿ çÜ…Ð@þçßý×ýÐ@þ¬ 
  c) Eç³“VæüàË$ ^ðþÆæÿ$Ð@þ#Ë$ 
  d) yìþyìþsìý ÝûÆæÿ Ô¶ýMìü¢ 

� � � 
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B.Com. DEGREE EXAMINATION, DEC. – 2016 

Third Year 

BUSINESS LAWS 

Time : 03 Hours                                                           Maximum Marks :80 

 

SECTION – A 

          Answer any four of the following Questions (4 × 4 = 16) 

 

  

Q1) Capacity of parties. 

 ´ëÈtË AÆæÿá™èþ 
 

Q2)  Free Consent 

 õÜÓ^ée ççÜÐ@þ$Ã† 

 

Q3)  Discharge 

 ÑÐðþ*^èþ¯@þÐ@þ¬ 

 

Q4) Indemnity 

 C…yìþÑ$²sîý  
  

Q5) Agreement to Sale 

 AÐ@þ$ÃMæüÐ@þ¬ °Ñ$™èþ¢Ð@þ¬ Jç³µ…§æþÐ@þ¬ 
 
Q6) Warranties 

 ç³N`Ë$ 
 

Q7) Essential Commodities 

 °™éÅÐ@þçÜÆæÿÐ@þçÜ$¢Ð@þ#Ë$ 
 
Q8) Directors dis Qualifications. 

 OyðþÆæÿMæütÆæÿÏ A¯@þÆæÿá™èþË$ 
 
 
 
 



   

SECTION – B 

         Answer any two of the following (2 × 8 = 16) 

 

Q9) Write about the agreements opposed to public policy? 

 {ç³gêÑ«§é¯é°Mìü Ð@þÅ†ÆóÿMæüOÐðþ$¯@þ Jç³µ…§æþÐ@þ¬Ë¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 
Q10)A stranger to the contract cannot sue? 

 M>…{sêMæü$tMæü$ ¯@þ*™èþ¯@þÐ@þÅMìü¢ Væü*Ça ÑÐ@þÇ…^èþ$Ð@þ¬.    
Q11)Write about the rights and duties of agents. 
 Hf…rÏ A«̈ M>Ææÿ Ñ«§æþ$Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

Q12) Explain Doctrine of Indoor Management. 
 A…™èþÇ²Æ>Óçßý×ý íÜ§é®…™èþÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

SECTION – C 

         Answer any three of the following (3 × 16 = 48) 

 

Q13) What are the essentials of valid offer. 
 {ç³†´ë§æþ¯@þMæü$ M>Ð@þËíÜ¯@þ BÐ@þÔ¶ýÅMæü™èþË¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

Q14) What are the remedies available for Breach of contract. 
 M>…{sêMæü$t ¿¶ý…V>°Mìü °ÐéÆæÿ×Z´ëÄ¶ý$Ð@þ¬Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

Q15) What are the rights available to the unpaid seller. 
 ^ðþÍÏ…ç³# M>° AÐ@þ$ÃMæüÐ@þ¬§éÆæÿ$° A«̈ M>Ææÿ Ñ«§æþ$Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

Q16) Write about the Consumer Protection Act. 
 Ñ°Äñý*Væü§éÆæÿ$Ë ç³ÇÆæÿ„æü×ê ^èþrtÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

Q17) Explain the winding up of a company. 
 Mæü…ò³° ç³ÇçÜÐ@þ*í³¢ Væü*Ça ÑÐ@þÇ…^èþ$Ð@þ¬. 

Q18) Write about the agency by Ratification. 
 Æ>sìýíœMóüçÙ¯Œþ Hgñý±Þ Væü$Ç…_ {ÐéÄ¶ý$…yìþ. 

 

� � � 
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B.Com. DEGREE EXAMINATION, DECEMBER – 2016 

 Third Year 

INCOME TAX AND PRACTICAL AUDITING 

Time : 3 Hours   Maximum Marks: 80 

SECTION-A 

      Answer Any Two of the following            (2 x 4 = 8) 

Q1) Appointment of Auditor of Government and other companies. 

 {ç³¿¶ý$™èþÓ Ð@þ$ÇÄ¶ý¬ {ç³¿¶ý$™óþÓ™èþÆæÿ çÜ…çÜ¦ËMæü$ ByìþrÆŠÿ¯@þ$ °Ä¶ý$Ñ$… è̂þ$ {ç³“MìüÄ¶ý$. 

Q2) Contents of Audit file. 

 ByìþsŒý OòœÌŒýÌZ° A…Ô>Ë$. 

Q3) Kinds of Audit report. 

 ByìþsŒý Ç´ùÆŠÿt ÆæÿM>Ë$. 

Q4) Disqualifications of Auditor. 

 ByìþrÆŠÿ A¯@þÆæÿá™èþË$. 

SECTION-B 

           Answer Any Two of the following        (2 x 16 = 32) 

Q5) Explain the term Internal control, and principles of a good system of internal 

control. 

 “A…™èþÆæÿY™èþ °Ä¶ý$…{™èþ×ý” ÑÐ@þÇ…_, Ðésìý @̄þ$…yìþ Ð@þ$…_ çœÍ™éË MöÆæÿMæü$ A¯@þ$çÜÇ… è̂þÐ@þËíÜ¯@þ 
°Ä¶ý$Ð@þ*Ë$ ™ðþË$µÐ@þ¬. 

Q6) Define the term vouching, write importance of vouching. 

 Ðø_…VŠü °ÆæÿÓ_…_, §é° {́ ëÐ@þ¬QÅ™èþ¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q7) Discuss the duties of an auditor in connection with varification of cash book. 

 ¯@þVæü§æþ$ ç³#çÜ¢MæüÐ@þ¬ ç³ÇÖË¯@þMæü$ çÜ…º…«̈ …_ ByìþrÆŠÿ Äñý¬MæüP Ñ«§æþ$Ë$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q8) Discuss the civil and criminal liability of an auditor. 

 ByìþrÆŠÿMæü$ Ð@þÇ¢… è̂þ$ íÜÑÌŒý Ð@þ$ÇÄ¶ý¬ “MìüÑ$ @̄þÌŒý »ê«§æþÅ™èþË$ ÑÐ@þÇ…ç³#Ð@þ¬. 

SECTION-C 



   

                  Answer Any Two of the following              (2 x 4 = 8) 
Q9) Previous year. 
 Væü™èþ çÜ…Ð@þ™èþÞÆæÿÐ@þ¬. 

 

Q10)Tax free perquisites. 

 ç³¯@þ$²̄ @þ$…yìþ Ñ$¯@þàÆÿ¬…ç³ºyìþ¯@þ ç³ÇËº$®Ë$. 

 

Q11) Public provident fund. 
 ç³¼ÏMŠü ¿¶ýÑçÙÅ °«̈ . 
 

Q12) Provisions relating to set off and carry forward of loss from speculation               

business. 

 A… è̂þ¯é ÐéÅ´ëÆæÿÐ@þ¬¯@þ$…yìþ Ð@þ è̂þ$a ¯@þçÙtÐ@þ¬ ¿¶ýÈ¢ ^óþÄ¶ý¬r Ð@þ$ÇÄ¶ý¬ Ð@þ¬…§æþ$Mæü$ ¡çÜ$Mö° ´ùÐ@þ# 
ç³§æþ®™èþ$Ë$ ™ðþË$µÐ@þ¬. 

SECTION-D 

                                        Answer Any Two of the following        (2 x 16 = 32) 
 

Q13) Mr. Raman is an employee in Indian Railways. Mr. Raman has furnished the         

following information for the previous ended March 31st 2015. Calculate Taxable 

income. 

 Basic salary  ’ 4,80,000 

 Dearness allowance  25% of Basic salary 

 Special allowance 4,800 

 Entertainment allowance 11,100 

 Fixed medical allowance 8,400 

 Gift received worth ’ 10,000 

 Employer’s contribution to recognised provident fund  ’ 52,000 

 Employee’s own contribution to RPF ’ 52,000 

 Life Insurance Premium paid ’ 26,000 

 Deposited in National Saving Scheme ’ 15,000 

 Paid ’ 20,000 towards medical insurance premium. 

 
 } Æ>Ð@þ$¯Œþ ¿êÆæÿ™èþOÆðÿÌôýÓ çÜ…çÜ¦ÌZ E§øÅW. Ð@þ*Ça 31, 2015 ¯ésìýMìü A™èþ¯@þ$ ¨Væü$Ð@þ Æÿ¬_ā @þ 

ÑÐ@þÆæÿÐ@þ¬Ë¯@þ$…yìþ ç³¯@þ$² ð̂þÍÏ… è̂þÐ@þËíÜ¯@þ Ððþ¬™èþ¢… B§éÄ¶ý$Ð@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 
 Ð@þÊË i™èþÐ@þ¬  Ææÿ*. 4,80,000 



   

 MæüÆæÿÐ@þ# ¿¶ý™èþÅÐ@þ¬  Ð@þÊËi™èþ…ÌZ 25 Ô>™èþÐ@þ¬ 

 òÜµçÙÌŒý ¿¶ý™èþÅÐ@þ¬  Ææÿ*. 4,800 

 Ñ¯ø§æþ ¿¶ý™èþÅÐ@þ¬  11,100 

 íÜ¦Ææÿ OÐðþ§æþÅ ¿¶ý™èþÅÐ@þ¬  8,400 

 Ä¶ý$fÐ@þ*°¯@þ$…yìþ E§øÅW ´÷…¨ @̄þ ºçßý$Ð@þ$† ÑË$Ð@þ 10,000 

 Væü$Ç¢…ç³# ´÷…¨¯@þ ¿¶ýÑçÙÅ °«̈ Mìü Ä¶ý$fÐ@þ*° ð̂þÍÏ…_ @̄þ¨  52,000 

 } Æ>Ð@þ$¯Œþ Væü$Ç¢…ç³# ´÷…¨ @̄þ ¿¶ýÑçÙÅ °«̈ Mìü ð̂þÍÏ…_ @̄þ¨ 52,000 

 iÑ™èþ ÁÐ@þ* {ï³Ñ$Ä¶ý$Ð@þ¬ ð̂þÍÏ…_ @̄þ Ððþ¬™èþ¢Ð@þ¬ 26,000 

 õÜÑ…VŠüÞ ïÜPÐ@þ¬ÌZ yìþ´ëhsŒý Ððþ¬™èþ¢Ð@þ¬ 15,000 

 E§øÅW ð̂þÍÏ…_¯@þ OÐðþ§æþÅ ÁÐ@þ* {ï³Ñ$Ä¶ý$Ð@þ¬  20,000 

Q14) Mr. X a trader has furnished the following statement of profit and loss for the 

year ended March 31st 2015. Compute taxable Income of Mr. X. 

     ’   ’ 

 Staff salary   2,40,000   Gross profit   5,40,000 

 Office expenses 22,000 Income tax refund 12,000 

 Income tax  18,000 Commission 6,000 

 Bad debts  16,000 Profit on sale of securities 20,000 

 Depreciation 42,000 Net loss C/d 37,000 

 Value added tax  17,000 

 Wealth tax  8,000 

 Life insurance premium 24,000 

 Loss on sale of asset 7,000 

 Transfer to general reserve 60,000 

 Drawings  36,000 

 Capital expenditure 85,000 

 Goodwill written off 40,000 

    6,15,000  6,15,000 

 

 Ð@þ*ÆŠÿa 31, 2015 } X ÐéÅ´ëÇ. ¨Væü$Ð@þ ™ðþÍí³¯@þ Ìê¿¶ý ¯@þÚëtË ç³sìýtMæü¯@þ$…yìþ A™èþ° ÐéÅ´ëÆæÿ 
B§éÄ¶ý$Ð@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 

     Ææÿ*.   Ææÿ*. 

 Ýët‹œ i™éË$   2,40,000   çÜ*¦Ë Ìê¿¶ýÐ@þ¬   5,40,000 



   

 BïœçÜ$ QÆæÿ$aË$ 22,000 B§éÄ¶ý$ç³¯@þ$² Ççœ…yŠþ 12,000 

 B§éÄ¶ý$ ç³¯@þ$² 18,000 MæüÒ$çÙ¯Œþ 6,000 

 Æ>° »êMîüË$  16,000 òÜMæü*ÅÇsîýË AÐ@þ$ÃMæü…Oò³ Ìê¿¶ýÐ@þ¬ 20,000 

 ™èþÆæÿ$Væü$§æþË  42,000 °MæüÆæÿ @̄þçÙtÐ@þ¬ 37,000 

 ÑË$Ð@þ B§éÇ™èþ ç³¯@þ$² 17,000 

 çÜ…ç³§æþ ç³¯@þ$²  8,000 

 iÑ™èþ ½Ð@þ* {ï³Ñ$Ä¶ý$Ð@þ¬ 24,000 

 BíÜ¢ AÐ@þ$ÃMæü…Oò³ @̄þçÙtÐ@þ¬ 7,000 

 Ýë«§éÆæÿ×ý ÇfÆæÿ$ÓMæü$ Ð@þ$ãå…ç³# 60,000 

 Ý÷…™èþ ÐéyæþM>Ë$ 36,000 

 Ð@þÊË«§æþ¯@þ QÆæÿ$aË$ 85,000 

 Væü$yŠþÑÌŒý  40,000 

     6,15,000  6,15,000 

 

Q15)How do you compute Income from LET OUT and self occupied house property? 

 A§ðþªMìü è̂þ$a Ð@þ$ÇÄ¶ý¬ Ý÷…™èþ °ÐéçÜÐ@þ¬ MöÆæÿMæü$ Ðéyæþ$™èþ$¯@þ² Væü–àíÜ¢̄ @þ$…yìþ B§éÄ¶ý$Ð@þ¬ ÌñýMìüP…ç³# 
ç³§æþ®†° ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q16) What are the kinds of provident fund and explain the their tax treatment. 

 ¿¶ýÑçÙÅ °«§æþ$Ë ÆæÿM>Ë$ ÑÐ@þÇ…_ Ðésìý ç³¯@þ$² ç³Ç«̈  {ç³“MìüÄ¶ý$¯@þ$ ™ðþË$µÐ@þ¬. 

 
            ● ● ● ● ● 
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B.Com. DEGREE EXAMINATION, DECEMBER – 2016 

 Third Year 

COST AND MANAGEMENT ACCOUNTING 

Time : 3 Hours   Maximum Marks: 80 

SECTION-A 

      Answer Any Four of the following          (4 x 4 = 16) 

Q1) Cost accounting VS Management Accounting. 
 M>‹Üt AMú…sìý…VŠü Ð@þ$ÇÄ¶ý¬ Ðóþ$¯óþgŒýÐðþ$…sŒý AMú…sìý…VŠüË¯@þ$ Ñ¿ôý¨… è̂þ$Ð@þ¬. 

Q2) Economic order Quantity (EOQ). 
 B§éç³NÆæÿÓMæü ç³Ç×êÐ@þ$Ð@þ¬. 

Q3) Idle time, overtime. 
 Ð@þ–«§é M>ËÐ@þ¬, GMæü$PÐ@þ ç³° M>ËÐ@þ¬. 

Q4) Allocation of overheads. 
 ç³Æø„æüÐ@þÅÄ¶ý*Ë MóüsêÆÿ¬…ç³#. 

Q5) Objectives of Financial Statements. 
 BÇ¦Mæü °Ðóþ¨MæüË «§óþÅÄ¶ý*Ë$. 

Q6) Ratio Analysis Advantages. 
 °çÙµ™èþ$¢Ë ÑÔóýÏçÙ×ý {ç³Äñý*f¯éË$. 

Q7) Classification of costs. 
 Ð@þÅÄ¶ý$ Ð@þÈYMæüÆæÿ×ý. 

Q8) Essentials of Good Wage System. 
 Ð@þ$…_ Ðóþ™èþ¯@þ ç³§æþª† Äñý¬MæüP BÐ@þÔ¶ýÅM>Ë$. 

SECTION-B 

         Answer Any Two of the following        (2 x 8 = 16) 

Q9) During the first week of January 2014 the workman Mr. Nagarjuna 

manufactured 300 articles. He receives wage for a guaranteed 48 hours week at 

the rate of ’ 4 per hour. The estimated time to produce one article is 10 minutes and 

under the incentive scheme the time allowed is increased by 20%. Calculate his 

wages according to (a) piece rate system (b) Halsey premium bonus plan (c) 

Rowan’s plan. 

 f¯@þÐ@þÇ ¯ðþË, 2014 çÜ…Ð@þ™èþÞÆæÿ Ððþ¬§æþsìý ÐéÆæÿ…ÌZ Ñ$çÜtÆŠÿ ¯éV>Ææÿ$j̄ @þ A¯óþ JMæü Ð@þÅMìü¢ 300 BÇtMæüÌŒýÞ̄ @þ$ 
E™èþµ†¢ ó̂þÝëyæþ$. Væü…rMæü$ Ææÿ*. 4 Ë ^öç³š¯@þ ÐéÆ>°Mìü 48 Væü…rËMæü$ Ýë«§éÆæÿ×ý Ðóþ™èþ¯@þÐ@þ¬ 
¡çÜ$Mæü$…sêyæþ$. JMæü BÇtMæüÌŒý E™èþµ†¢ ó̂þÄ¶ý$yé°Mìü A… è̂þ¯é ÐóþíÜ¯@þ M>ËÐ@þ¬ 10 °Ð@þ¬ÚëË$. 



   

 {́ ù™éÞçßýMæü ç³£æþMæüÐ@þ¬ {ç³M>ÆæÿÐ@þ¬ MóüsêÆÿ¬…_ @̄þ çÜÐ@þ$Ä¶ý$Ð@þ¬ 20% ò³… è̂þºyìþ¯@þ¨. A™èþ° 
Ðóþ™èþ¯@þÐ@þ¬¯@þ$ (a) ç³°° ºsìýt (b) àÌôýÞ {ï³Ñ$Ä¶ý$ÐŒþ$ »Z¯@þ‹Ü ç³£æþMæü… (c) ÆøÐ@þ¯ŒþÞ ç³£æþMæüÐ@þ¬ {ç³M>ÆæÿÐ@þ¬ 
ÌñýMæüPMæürt…yìþ. 

Q10)Explain different material stock levels. 
 ÑÑ«§æþ Ððþ$sîýÇÄ¶ý$ÌŒýÞ °ËÓ ç³§æþª™èþ$Ë¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 
Q11) Prepare cost sheet showing: 

 a) Cost of material used. 

 b) Prime cost. 

 c) Works cost. 

 d) Cost of production. 

 e) Percentage of works overheads to productive wages. 

 f) Percentage of general overhead to works cost. 
      ’  

 Stock of material (1-1-2015) 10,000 

 Stock of finished goods (1-1-2015) 25,500 

 Raw material purchased  2,90,000 

 Productive wages  1,95,000 

 Sales    6,06,000 

 Stock of materials (31-12-2015) 12,500 

 Works overhead  43,000 

 Office and general expenses 36,000 

 Stock of finished goods (31-12-2015) 24,000 
 “Mìü…¨ ÑÐ@þÆ>Ë¯@þ$ è̂þ*ç³#™èþ* Ð@þÅÄ¶ý$ °Ðóþ¨Mæü @̄þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ.  
 a) Ñ°Äñý*W…_ @̄þ Ððþ$sîýÇÄ¶ý$ÌŒý Ð@þÅÄ¶ý$Ð@þ¬. 
 b) {́ ë£æþÑ$Mæü Ð@þÅÄ¶ý$…. 
 c) Ð@þÆŠÿPüÞ Ð@þÅÄ¶ý$…. 
 d) E™èþµ†¢ Ð@þÅÄ¶ý$…. 
 e) E™éµ§æþMæü Ðóþ™èþ¯éËMæü$ ç³Æø„æü ç³° Ð@þÅÄ¶ý$Ð@þ¬ Äñý¬MæüP Ô>™èþ…. 
 f) ç³° Ð@þÅÄ¶ý$Ð@þ¬¯@þMæü$, Ýë«§éÆæÿ×ý ç³Æø„æü Ð@þÅÄ¶ý$Ð@þ¬ Äñý¬MæüP Ô>™èþ….  
      Ææÿ*.  

 Ððþ$sîýÇÄ¶ý$ÌŒýÞ °ËÓ (1-1-2015) 10,000 

 ç³NÇ¢ AÆÿ¬ @̄þ çÜÆæÿ$Mæü$ °ËÓ (1-1-2015) 25,500 

 Mö¯@þ$VøË$ ó̂þíÜ¯@þ Ð@þ¬yìþ ç³§éÆ>¦Ë$ 2,90,000 

 E™éµ§æþMæü Ðóþ™èþ¯éË$  1,95,000 

 AÐ@þ$ÃM>Ë$   6,06,000 

 Ððþ$sîýÇÄ¶ý$ÌŒýÞ °ËÓ (31-12-2015) 12,500 

 ç³° ç³Æø„æü Ð@þÅÄ¶ý*Ë$ 43,000 

 BïœçÜ$ Ð@þ$ÇÄ¶ý¬ Ýë«§éÆæÿ×ý QÆæÿ$aË$  36,000 

 ç³NÇ¢ AÆÿ¬ @̄þ çÜÆæÿ$Mæü$ °ËÓ (31-12-2015) 24,000 



   

Q12) The following details are available inrespect of certain materials in Harini        

Industries for 3 months period ending 31-3-2013. 

 5-1-13 Purchase of 1,000 kgs @ ’ 1.20 per kg. 

 11-1-13 Issue 2,000 kgs. 

 1-2-13 Purchase 1,500 kgs @ 1.30 per kg. 

 18-2-13 Issue 2,400 kgs. 

 26-2-13  Issue 1,000 kgs. 

 8-3-13 Purchases 1,000 kgs @ 1.40 per kg. 

 17-3-13 Purchases 1,500 kgs @ 1.30 per kg. 

 28-3-13  Issue 2,000 kgs. 

 The stock of 1st January 2013 was 5,000 kgs @ ’ 1.10 per kg. You are required 

to prepare a stores ledger adopting weighting average method of pricing issue. 

 çßýÇ×ìý C…yæþ[ïÜt‹Ü ÐéÇ 31-3-2013 Mìü A…™èþÐ@þ$Äôý$Å, Ð@þÊyæþ$ ¯ðþËË ÑÐ@þÆ>Ë$ “Mìü…¨ Ñ«§æþ…V> 
E¯é²Æÿ¬. 

 5-1-2013 Mö¯@þ$VøË$ 1,000 kgs; Móüi Ææÿ*. 1.20 ^öç³š¯@þ 
 11-1-2013 gêÈ 2,000 MóüiË$ 
 1-2-2013 Mö¯@þ$VøË$ 1,500 MóüiË$; Móüi Ææÿ*. 1.30 ^öç³š¯@þ 
 18-2-2013 gêÈË$ 2,400 MóüiË$ 
 26-2-2013 gêÈË$ 1,000 MóüiË$ 
 8-3-2013 Mö¯@þ$VøË$ 1,000 MóüiË$; Móüi Ææÿ*.  1.40 ^öç³š¯@þ 
 17-3-2013 Mö¯@þ$VøË$ 1,500 MóüiË$; Móüi Ææÿ*. 1.30 ^öç³š¯@þ 
 28-3-2013  gêÈ 2,000 Móüi. 
 f¯@þÐ@þÇ 1, 2013 çÜÆæÿ$Mæü$ 5,000 MóüiË$, Móüi Ææÿ*. 1.10 ^öç³š @̄þ ÝùtÆŠÿÞ BÐ@þÆ>j̄ @þ$ ¿êÇ™èþ çÜVæür$ 

ç³§æþª†ÌZ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 

SECTION-C 

          Answer Any Three of the following  (3 x 16 = 48) 
Q13) A manufacturing company has three production departments A, B, C and two 

service departments X and Y. Overhead allocated to these departments is as           

follows. 

 Production departments Service departments 

 A: ’ 15,000  X = ’ 3,000 

 B: ’ 27,000  Y: ’ 5,000 

 C: ’ 19,000 

 The percentage of distribution of cost of each service department is given below 

on the basis of man hours worked. 

    Dept  A B C X Y 

    X  45% 15% 30% - 10% 



   

    Y  60% 35% - 5% - 

 Distribute the costs of cost of service departments under repeated distribution 

method. 

 JMæü E™éµ§æþMæü Mæü…ò³±Mìü Ð@þÊyæþ$ A, B, C A¯@þ$ E™èþµ†¢ Ñ¿êV>Ë$ Ð@þ$ÇÄ¶ý¬ Æðÿ…yæþ$ X, Y A¯@þ$  
õÜÐé Ñ¿êV>Ë$ MæüËÐ@þ#. “Mìü…¨ Ñ«§æþ…V> ç³Æø„æü Ð@þÅÄ¶ý*Ë$ MóüsêÆÿ¬… è̂þºyìþ¯@þÑ. 

 E™èþµ†¢ Ñ¿êV>Ë$   õÜÐé Ñ¿êV>Ë$ 

 A: Ææÿ*. 15,000  X = Ææÿ*. 3,000 

 B: Ææÿ*. 27,000  Y: Ææÿ*. 5,000 

 C: Ææÿ*. 19,000 

 {ç³†õÜÐé Ñ¿êVæüç³# QÆæÿ$ā @þ$ “Mìü…¨ Rê™éË B«§éÆæÿ…V> ç³#¯@þÆ>Ð@þ–™èþ ç³…í³×ìý ç³§æþª†ÌZ ç³…í³×ìý 
ó̂þÄ¶ý$…yìþ.  

    Ñ¿êVæüÐ@þ¬ A B C X Y 

    X  45% 15% 30% - 10% 

    Y  60% 35% - 5% - 

Q14) Following are the summarised Balance sheets of wye Ltd. as at 31st March 2013 

and 2014. 

 Liabilities    2013   2014   Assets   2013   2014 

     ’   ’    ’   ’  
 Equity share capital   5,00,000   5,00,000   Fixed Assets   10,40,000   9,90,000 

 Reserves and surplus   1,10,000   1,20,000   Current Assets   5,00,000   7,10,000 

 Secured loans   5,50,000   4,00,000 

 Unsecured loans - 1,00,000 

 Currrent liabilities   3,80,000   5,80,000 

     15,40,000   17,00,000    15,40,000  17,00,000  

 

 You are required to comment upon the changes in absolute figures from one period to 

another by preparing comparative Balance Sheet. 

 

 
  
  



   

OÐðþ ÍÑ$sñýyŠþ ÐéÇ “Mìü…¨ BíÜ¢ Aç³šË ç³sìýtMæü 31-3-2013, 2014. çÜ…Ð@þ™èþÞÆ>Ë¨. §é° @̄þ$…_ ™èþ$Ë¯é™èþÃMæü 
BíÜ¢ Aç³šË ç³sìýtMæü @̄þ$ ™èþÄ¶ý*Ææÿ$ ó̂þíÜ, A…§æþÍ Ð@þ*Ææÿ$µË¯@þ$ Væü$Ç…_ ÐéÅRêÅ°… è̂þ…yìþ. 

 
 Aç³šË$    2013   2014   BçÜ$¢Ë$   2013   2014 

     Ææÿ*.   Ææÿ*.    Ææÿ*.   Ææÿ*.  
 DMìüÓsîý Ðésê Ð@þÊË«§æþ¯@þ…   5,00,000   5,00,000   íÜ¦Æ>çÜ$¢Ë$   10,40,000   9,90,000 

 ÇfÆæÿ$ÓË$ Ñ$Væü$â¶ý$å   1,10,000   1,20,000   {ç³çÜ$¢™èþ BçÜ$¢Ë$   5,00,000   7,10,000 

 òÜMæü*ÅÇsîý E @̄þ² Aç³šË$   5,50,000   4,00,000 

 òÜMæü*ÅÇsîý Ìôý° Aç³šË$ -   1,00,000 

 {ç³çÜ$¢™èþ Aç³šË$ 3,80,000   5,80,000 

     15,40,000   17,00,000    15,40,000  17,00,000 

 

Q15)From the following information calculate (i) Gross profit ratio (ii) Inventory 

turnover ratio (iii) Current ratio (iv) Liquid ratio (v) Net profit ratio (vi) working 

capital turnover ratio. 

 Sales ’ 25,20,000; Cost of sales ’ 19,20,000; Netprofit ’ 3,60,000; Average     

inventory ’ 8,00,000; Other current assets ’ 7,60,000; Fixed assets                         

’ 14,40,000; Long term debt ’ 9,00,000; Current liabilities ’ 6,00,000; Trade 

creditors ’ 2,00,000; Net profit before interest and tax ’ 8,00,000. 

 “Mìü…¨ ÑÐ@þÆ>Ë™ø (i) çÜ*¦Ë Ìê¿¶ý °çÙµ†¢ (ii) çÜÆæÿ$Mæü$, AÐ@þ$ÃM>Ë °çÙµ†¢ (iii) {ç³çÜ$¢™èþ °çÙµ†¢ (iv) 

{§æþÐ@þÅ™èþÓ °çÙµ†¢ (v) °MæüÆæÿ Ìê¿¶ý °çÙµ†¢ (vi) °ÆæÿÓçßý×ý Ð@þÊË«§æþ¯@þ rÆø²Ð@þÆŠÿ °çÙµ†¢Ë¯@þ$ ÌñýMæüP Mæürt…yìþ. 
 AÐ@þ$ÃM>Ë$ Ææÿ*. 25,20,000; AÑ$Ã @̄þ Ð@þçÜ$¢Ð@þ#Ë Mö¯@þ²«§æþÆæÿ Ææÿ*. 19,20,000; °MæüÆæÿ Ìê¿¶ý…             

Ææÿ*. 3,60,000; çÜVæür$ çÜÆæÿ$Mæü$ °ËÓ Ææÿ*. 8,00,000; C™èþÆæÿ {ç³çÜ$¢™èþ BçÜ$¢Ë$ Ææÿ*. 7,60,000; 

íÜ¦Æ>çÜ$¢Ë$ Ææÿ*. 14,40,000; ©ÆæÿƒM>Ë Aç³šË$ Ææÿ*. 9,00,000; {ç³çÜ$¢™èþ Aç³šË$ Ææÿ*. 6,00,000; 

Ð@þÆæÿ¢Mæüç³# º¬×ý§é™èþË$ Ææÿ*. 2,00,000; ç³¯@þ$² Ð@þ$ÇÄ¶ý¬ Ð@þyîþzMìü Ð@þ¬…§æþ$ °MæüÆæÿ Ìê¿¶ý… Ææÿ*. 
8,00,000. 

Q16) Ravi Kumar took a contract for ’ 15,00,000. The contractee has to pay 80% of 

work certified and the balance 20% is to be retained till the contract is 

completed. 

 Amounts spent during 2012 were as follows materials ’ 1,80,000; wages ’ 
1,70,000; carriage ’ 6,000 transport ’ 2,000; sundry expenses ’ 3,000. 

 The work was certified to the extent of ’ 3,75,000. Against this 80% was paid. 

 The expenses during the years. 

    2013   2014 



   

    ’   ’ 

 Materials   2,20,000   1,26,000 

 Wages   2,30,000   1,70,000 

 Carriage  23,000   - 

 Transport   2,000   6,000 

 Sundry expenses   4,000   3,000 

 On 31
st
 Dec. 2013 it was certified that ¾

th
 of the work was completed. 

Accordingly 80% was collected the value of uncertified work was ’ 20,000. 

 The contract was completed on 30
th
 June 2014. Prepare contract A/c and 

contractee A/c in the books of contractor. 

 ÆæÿÑ Mæü$Ð@þ*ÆŠÿ Ææÿ*. 15,00,000. ËMæü$ JMæü M>…{sêMæü$t ó̂þç³sñýt̄ @þ$. M>…{sêMîüt §æþ–ÒMæüÇ…_ @̄þ ç³°ÌZ 

80% ð̂þÍÏ…^éÍ. Ñ$WÍ¯@þ 20% M>…{sêMæü$t ç³NÇ¢ AÄôý$Å Ð@þÆæÿMæü$ ™èþ¯@þ Ð@þ§æþª̄ óþ Ð@þ#… è̂þ$Mæü$…sêyæþ$. 

 ÑÑ«§æþ çÜ…Ð@þ™èþÞÆ>ËÌZ QÆæÿ$aË$ “Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ¬. 

    2012 2013   2014 

    Ææÿ*. Ææÿ*.   Ææÿ*. 

 Ððþ$sîýÇÄ¶ý$ÌŒýÞ   1,80,000 2,20,000   1,26,000 

 Ðóþ™èþ¯éË$   1,70,000 2,30,000   1,70,000 

 M>ÅÆóÿgŒý  6,000 23,000   - 

 ÆæÿÐé×ê   2,000 2,000   6,000 

 _ËÏÆæÿ QÆæÿ$aË$   3,000 4,000   3,000 

 §æþ–ÒMæüÇ…_ @̄þ ç³°2   3,75,000 Ððþ¬™èþ¢… ç³°Mìü ¾ Ð@þ Ð@þ…™èþ$   - 

 §æþ–ÒMæüÇ… è̂þ° ç³°  - 20,000   - 

 M>…{sêMæü$t 30 l¯Œþ 2014 ¯@þ ç³NÇ¢ AÆÿ¬¯@þ¨. M>…{sêMæütÆŠÿ ç³#çÜ¢M>ËÌZ M>…{sêMîüt Rê™é, Ð@þ$ÇÄ¶ý¬ 
M>…{sêMæü$t Rê™éË @̄þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 

Q17) From the following particulars prepare a cost sheet showing the components of 

table cost and the profit for the year ended 31-12-2015. 

 

       On 1-1-2015   on 31-12-2015 

    ’    ’ 

 Stock of raw materials   80,000    1,00,000 

 Work in progress  30,000    20,000 

 Stock of finished product  12,000    30,000 



   

 Purchase of raw materials     9,50,000 

 Carriage inwards     25,000 

 Wages     3,50,000 

 Works manager salary     60,000 

 Factory employees salary     1,20,000 

 Power expenses     19,000 

 Factory rent, taxes     14,500 

 Other production expenses   85,000 

 General expenses     65,000 

 Sales for the year     17,20,000 

 Income tax     5,500 

 Dividend     1,000 

 Debenture interest     5,000 

 Good will     10,000 

 Payment of sales tax    16,000 

 “Mìü…¨ ÑÐ@þÆ>Ë™ø 31&12&2015 ™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü Ððþ¬™èþ¢… Ð@þÅÄ¶ý$Ð@þ¬, Ìê¿¶ýÐ@þ¬¯@þ$ 
è̂þ*õ³ Ð@þÅÄ¶ý$ °Ðóþ¨Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 

       1-1-2015   31-12-2015 
    Ææÿ*.    Ææÿ*. 
 Ð@þ¬yìþ ç³§éÆ>®Ë °ËÓ   80,000    1,00,000 

 Mö¯@þÝëVæü$™èþ$¯@þ² ç³° 30,000    20,000 

 ç³NÇ¢ AÆÿ¬ @̄þ çÜÆæÿ$Mæü$ °ËÓ 12,000    30,000 

 Ð@þ¬yìþ ç³§éÆ>®Ë Mö @̄þ$VøË$    9,50,000 

 Mö¯@þ$VøË$ ÆæÿÐé×ê     25,000 

 Ðóþ™èþ¯éË$     3,50,000 

 ç³° Ðóþ$¯óþfÆŠÿ (Ð@þÆŠÿPüÞ) i™èþÐ@þ¬    60,000 

 ¸ëÅMæütÈ E§øÅVæü$Ë i™éË$     1,20,000 

 ç³Ð@þÆŠÿ     19,000 

 ¸ëÅMæütÇ A§ðþª, ç³¯@þ$²Ë$    14,500 

 C™èþÆæÿ E™éµ§æþMæü QÆæÿ$aË$   85,000 

 Ýë«§éÆæÿ×ý QÆæÿ$aË$     65,000 

 B çÜ…Ð@þ™èþÞÆæÿ…ÌZ AÐ@þ$ÃM>Ë$     17,20,000 

 

 B§éÄ¶ý$ç³# ç³¯@þ$²     5,500 

 yìþÑyðþ…yŠþ     1,000 

 yìþ»ñý… è̂þÆæÿ$Ï Ð@þyîþz     5,000 

 Væü$yŠþÑÌŒý     10,000 

 AÐ@þ$ÃMæüç³# ç³¯@þ$² ð̂þÍÏ…ç³#   16,000 



   

 

Q18) Prepare comparative income statement of Ahmed Ltd. With the help of following 

information. 

 Particulars   31
st
 March 31

st
 March 

      2012 2013 

      ’ ’ 

 Sales  5,00,000 8,00,000 

 Cost of Goods sold 3,00,000 5,00,000 

 Direct expenses 40,000 20,000 

 Indirect expenses 30,000 40,000 

 Income tax 40% 50% 

 “Mìü…¨ ÑÐ@þÆ>Ë @̄þ$…_ AçßýÐ@þ$§Šþ ÍÑ$sñýyŠþ ÐéÇ ™èþ$Ë¯é™èþÃMæü B§éÄ¶ý$ °Ðóþ¨Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$ 
ó̂þÄ¶ý$…yìþ. 

 ÑÐ@þÆ>Ë$   31
 Ð@þ*Ça 31

 Ð@þ*Ça 

      2012 2013 

      Ææÿ*. Ææÿ*. 

 AÐ@þ$ÃM>Ë$  5,00,000 8,00,000 

 AÑ$Ã¯@þ Ð@þçÜ$¢Ð@þ#Ë Mö @̄þ² «§æþÆæÿ 3,00,000 5,00,000 

 {ç³™èþÅ„æü QÆæÿ$aË$ 40,000 20,000 

 ç³Æø„æü QÆæÿ$aË$ 30,000 40,000 

 B§éÄ¶ý$ç³# ç³¯@þ$²  40% 50% 

 
            ● ● ● ● ● 
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SECTION-A 

        Answer Any Four of the following           (4 x 4 = 16) 

D “Mìü…¨ ÐésìýÌZ HÐóþ° ¯éË$Væü$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é @̄þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 

Q1) Data processing life cycle. 
 yóþsê {́ ùòÜíÜ…VŠü OÌñý‹œOòÜMìüË$. 

Q2) Retrieving database records. 
 yóþsê»ôý‹Ü ÇM>Ææÿ$zË¯@þ$ è̂þ*yæþr…. 

Q3) Creating mailing labels. 
 Ððþ$Æÿ¬Í…VŠü Ìôýº$ÌŒýÞ̄ @þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý¬r. 

Q4) Saving and quitting worksheet. 

 Ð@þÆæÿ$P ç³{™èþÐ@þ¬¯@þ$ õÜÐŒþ ó̂þÄ¶ý¬r Ð@þ$ÇÄ¶ý¬ Quit ó̂þÄ¶ý¬r. 

Q5) Features of windows. 
 Ñ…yø Äñý¬MæüP ïœ è̂þÆæÿ$Ï. 

Q6) Printing a document. 
 yéMæü$ÅÐðþ$…r$¯@þ$ {í³…r$ ó̂þÄ¶ý¬r. 

Q7) Macros in MS-Word. 

 MS-Word ÌZ VæüË Ðóþ$“MøË$. 

Q8) Find and replace in MS-Word. 

 MS-Word ÌZ VæüË Oòœ…yæþ$ Ð@þ$ÇÄ¶ý¬ Çõ³ÏçÜ$. 

SECTION-B 

                Answer Any Two questions (2 x 8 = 16) 

D “Mìü…¨ ÐésìýÌZ HÐóþ° Æðÿ…yæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 

Q9) Discuss about File manipulation and maintenance. 

 OòœË$ Ðóþ$¯óþkÐðþ$…r$ Ð@þ$ÇÄ¶ý¬ Ððþ$Æÿ¬…r$¯ðþ¯@þ$Þ Væü$Ç…_ è̂þÇa… è̂þ…yìþ.  

 

 



   

Q10)How can you check the grammatical error? 

 “V>Ð@þ$Ææÿ$ Äñý¬MæüP ™èþç³šË¯@þ$ GÌê check ó̂þÝë¢Ð@þ¬. 

Q11) What are the various views in MS-Word. 

 MS-Word  ÌZ VæüË ÑÑ«§æþ Ð@þNÅË$ HÑ? 

Q12) Write about mail merg. 

 Ððþ$Æÿ¬ÌŒý Ððþ$Çj Væü$Ç…_ {ÐéÄ¶ý$…yìþ.  

SECTION-C 

              Answer Any Three questions (3 x 16 = 48) 

D “Mìü…¨ ÐésìýÌZ HÐóþ° Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬. 

Q13) Explain sequential file organization. 

 ïÜMðüÓ°ÛÄ¶ý$Ë$ OòœË$ BÆæÿYŌ ðþgôýçÙ¯@þ$¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

 

Q14) Write syntax and examples for sorting and indexing and searching. 

 ÝëÇt…Væü$ Ð@þ$ÇÄ¶ý¬ C…yðþMæü$Þ Ð@þ$ÇÄ¶ý¬ çÜÇa…VŠüËMæü$ íÜ…sêMŠüÞË¯@þ$ {ÐéÄ¶ý$…yìþ. 

 

Q15)Write a procedure to create Tables in MS-Word. 

 MS-Word ÌZ sôýº$ËÏ̄ @þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý¬ ç³§æþª†° {ÐéÄ¶ý$…yìþ. 

 

Q16) How can you draw a line, circle, ellips and textbox. 

 OÌñý¯@þ$Ë¯@þ$, Ð@þ–™èþ¢Ð@þ¬Ë¯@þ$ Ð@þ$ÇÄ¶ý¬ ©ÆæÿƒÐ@þ–™èþ¢Ð@þ¬ Ð@þ$ÇÄ¶ý¬ sñýMæü$Þ»êMæü$ÞË¯@þ$ GÌê XÝë¢Ð@þ¬. 

 

Q17) Describe the MS-Excel formatting tips and techniques. 

 MS-Excel ÌZ VæüË ¸ëÆóÿÃsìý…VŠü sìý‹³Þ Ð@þ$ÇÄ¶ý¬ Ððþ$â¶ýMæü$Ð@þË¯@þ$ Ð@þÇ~… è̂þ…yìþ. 

 

Q18) What are the uses of charts in Excel? Explain various types of charts. 

 Excel ÌZ VæüË ^éÆæÿ$tË Eç³Äñý*VæüÐóþ$Ñ$? ÑÑ«§æþ ÆæÿMæüÐ@þ¬OÌñý¯@þ ^éÆæÿ$tË¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

 
            ● ● ● ● ● 
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CORPORATE ACCOUNTING 

Time : 3 Hours   Maximum Marks: 80 

SECTION-A 

      Answer Any Four of the following          (4 x 4 = 16) 

Q1) Capitalisation Method. 
 Ð@þÊË«§æþ±MæüÆæÿ×ý ç³§æþ®†. 

Q2) Marine Insurance. 
 çÜÐ@þ¬{§æþ ÁÐ@þ*. 

Q3) Short Notice Money. 
 çÜÓËµM>ÍMæü {§æþÐ@þÅÐ@þ¬. 

Q4) Acceptances & Endorsements. 
 ïÜÓMæü–™èþ$Ë$ Ð@þ$ÇÄ¶ý¬ G…yéÆŠÿÞÐðþ$…r$Ï. 

Q5) Bonus in reduction of premium. 
 {ï³Ñ$Ä¶ý$… ™èþWY…ç³#OMðü Ñ°Äñý*W… ó̂þ »Z @̄þ‹Ü. 

Q6) Capital and Revenue Profits. 
 Ð@þÊË«§æþ¯@þ Ð@þ$ÇÄ¶ý¬ Æ>ºyìþ Ìê¿êË$. 

Q7) Preferential creditors. 
 B«̈ MæüÅç³# Ææÿ$×ý§é™èþË$. 

Q8) Liquidator statement. 
 ÍMìüÓyóþrÆŠÿ °Ðóþ¨Mæü. 

SECTION-B 

         Answer Any Two of the following        (2 x 8 = 16) 

Q9) Concept of Accounting standard. 

 AMú…sìý…VŠü {ç³Ð@þ*×ýÐ@þ¬ ¿êÐ@þ¯@þ. 

Q10)The following is the Balance sheet of Ganesh Ltd. Compute the value of shares 

under net Assets Method. 

 Liabilities   Rs.   Assets   Rs. 

 Share capital 20,000 shares  Goodwill 1,90,000 

  of Rs. 10 each 2,00,000 Investment  3,00,000 

  Reserve fund 2,50,000 Current assets 50,000 

  Profit & Loss A/c 30,000 Loans & Advances 30,000 



   

  Unsecured ban 80,000 Miscellaneous expenditure 10,000 

  Current Liabilities 20,000 

    5,80,000  5,80,000 

 For the purpose of valuation of shares goodwill shall be taken at two years    

purchase of the average profit of the last five years are Rs. 60,000, Rs. 70,000, 

Rs. 40,000, Rs. 50,000 and Rs. 50,000. 

 Væü×ôý‹Ù Mæü…ò³± ÍÑ$sñýyŠþ Äñý¬MæüP BíÜ¢ Aç³šË ç³sìýt “Mìü…¨ Ñ«§æþ…V> Ð@þ# @̄þ²̈ . °MæüÆæÿ BçÜ$¢Ë ç³§æþ®†ÌZ 
DMìüÓsîý ÐésêË ÑË$Ð@þË¯@þ$ ÌñýMìüP…ç³#Ð@þ¬. 

 Aç³šË$ Ððþ¬™èþ¢Ð@þ¬   BçÜ$¢Ë$   Ððþ¬™èþ¢Ð@þ¬ 

  Ðésê Ð@þÊË«§æþ¯@þ… 20,000  Væü$yŠþÑÌŒý 1,90,000 

  DMìüÓsìý ÐésêË$ JMöPMæüPsìý Ææÿ*. 10 2,00,000 ò³r$tºyæþ$Ë$ 3,00,000 

  ÇfÆæÿ$Ó °«̈  2,50,000 {ç³çÜ$¢™èþ BçÜ$¢Ë$ 50,000 

  Ìê¿¶ý @̄þÚëtË Rê™é 30,000 º¬×êË$, AyéÓ Œ̄þÞË$ 30,000 

  HÑ$Ìôý° º¬×êË$ 80,000 _ËÏÆæÿ Ð@þÅÄ¶ý*Ë$ 10,000 

  {ç³çÜ$¢™èþ Aç³šË$ 20,000 

    5,80,000  5,80,000 

 ÐésêË$ Ð@þÊÌêÅ…Mæü¯@þÐ@þ¬V>¯@þ$ Væü™èþ I§æþ$ çÜ…Ð@þ™èþÞÆ>Ë$ çÜÆ>çÜÇ Ìê¿¶ý… @̄þ$ Æðÿ…yæþ$ çÜ…Ð@þ™èþÞÆ>Ë$ 
Mö¯@þ$VøË$Mæü$ çÜÐ@þ*¯@þ…V> Væü$yŠþÑÌŒý¯@þ$ ÌñýMìüP… è̂þÐ@þÌñý¯@þ$. Væü™èþ I§æþ$ çÜ…Ð@þ™èþÞÆ>Ë$ Ìê¿êË$ 
Ð@þÆæÿ$çÜV> Ææÿ*. 60,000, 70,000, 40,000, 50,000 Ð@þ$ÇÄ¶ý¬ 50,000. 

Q11) What is meant by Bonus shares? When the Bonus shares were issued? 

 »Z¯@þ‹Ü ÐésêË$ A¯@þV> ó̄þÑ$? Ðésìý° Gç³šyæþ$ gêÈ ó̂þÝë¢Ææÿ$? 

Q12) What is meant by liquidation? Explain the modes of winding up of a company. 

 ç³ÇçÜÐ@þ*í³¢ A¯@þV> ó̄þÑ$? Mæü…ò³± ç³ÇçÜÐ@þ*í³¢Mìü V>¯@þ$ VæüË ÑÑ«§æþ ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

SECTION-C 

      Answer Any Three of the following  (3 x 16 = 48) 
Q13) The following are the Balance sheets of ‘H’ Ltd. and ‘S’ Ltd. as on 31

st
 March 

2015. 

 Liabilities   ‘H’ Ltd.   ‘S’ Ltd.            Assets   ‘H’ Ltd.   ‘S’ Ltd. 

    (Rs.)   (Rs.)   (Rs.)   (Rs.) 

 Share capital   Fixed Assets 10,000 12,000 

 (Rs. 1 per share) 20,000 16,000 Stock 8,000 12,000 

 Reserves 8,000 6,000 Shares in ‘S’ Ltd. 12,000 - 



   

 Bills payable 14,000 10,000 Bills receivable 16,000 10,000 

 P & L A/c 8,000 4,000 Cash 4,000 2,000 

    50,000 36,000  50,000 36,000 

 Bills receivable of ‘H’ Ltd. include of Rs. 5,000 given by ‘S’ Ltd. Rs. 1,000 was 

transferred by ‘S’ Ltd. Reserve out of current year’s profit. Shares of ‘S’ Ltd. 

were purchased by ‘H’ Ltd. on 30-09-2014. Prepare consolidated Balance Sheet. 

 31 Ð@þ*Ça 2015 ¯ésìý ‘H’ ÍÑ$sñýyŠþ Ð@þ$ÇÄ¶ý¬ ‘S’ ÍÑ$sñýyŠþ ÐéÇ BíÜ¢ Aç³šË$ ÑÐ@þÆ>Ë$ ¨Væü$Ð@þ 
±Ä¶ý$ºyìþ¯@þÑ. 

 Aç³šË$   ‘H’ Ltd.   ‘S’ Ltd.   BçÜ$¢Ë$   ‘H’ Ltd.   ‘S’ Ltd. 

    Ææÿ*.  Ææÿ*.  Ææÿ*.   Ææÿ*. 

 Ðésê Ð@þÊË«§æþ¯@þ…   íÜ¦Æ>çÜ$¢Ë$ 10,000 12,000 

 (ÐésêMìü 1Ææÿ*. ^ö‘‘) 20,000 16,000 çÜÆæÿ$Mæü$ 8,000 12,000 

 ÇfÆæÿ$ÓË$ 8,000 6,000  ‘S’ Ltd. ÌZ° ÐésêË$ 12,000 - 

 ð̂þÍÏ…ç³# ¼Ë$ÏË$ 14,000 10,000 Ð@þçÜ*Ë$ ¼Ë$ÏË$ 16,000 10,000 

 Ìê¿¶ý @̄þÚëtË Rê™é 8,000 4,000 ¯@þVæü§æþ$ 4,000 2,000 

    50,000 36,000  50,000 36,000 

 ‘S’ ÍÑ$sñýyŠþ ÐéÇ ¯@þ$…_ Ð@þçÜ*OÌñý¯@þ ¼Ë$ÏË$ Ððþ¬™èþ¢… Ææÿ*. 5,000 ‘H’ ÍÑ$sñýyŠþÌZ MæüÍíÜ Ð@þ#¯@þ²Ñ. 
‘S’ ÍÑ$sñýyŠþÌZ ÐéÇ {ç³çÜ$¢™èþ çÜ…Ð@þ™èþÞÆæÿ Ìê¿êË @̄þ$…_ Ææÿ*. 1,000/- Ë @̄þ$ ÇfÆæÿ$Ó Rê™éMæü$ 
Ð@þ$ãå… è̂þÐ@þÌñý¯@þ$. ‘S’ ÍÑ$sñýyŠþ ÌZ° ÐéÇ ÐésêË @̄þ$  ‘H’ ÍÑ$sñýyŠþ ÐéÆæÿ$ 30-09-2014 ¯éyæþ$ 
Mö¯@þ$VøË$ ó̂þÄ¶ý$yæþOÐðþ$¯@þ¨. Oò³ ÑÐ@þÆ>Ë™ø HMîüMæü–™èþ (çÜÒ$Mæü–™èþ) BíÜ¢, Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ 
ó̂þÄ¶ý$…yìþ. 

Q14) A life insurance company disclosed a fund of Rs. 20,00,000 and the Balance 

Sheet total Rs. 45,00,000. On 31st December 2014 before taking the following  

into consideration. 

 a) A claim of Rs. 10,000 was intimated and admitted but not paid during the 

year. 

 b) A claim of Rs. 6,000 outstanding in the book for 8 years is written back. 

 

 c) Interest on securities accured Rs. 800 but not received during year. 

 d) Rent of own building occupied Rs. 2,000. 

 e) Premium of Rs. 600 is payable under re-insurance. 

 f) Re-insurance recoveries Rs. 26,000. 

 g) Bonus utilized in reduction of premium Rs. 10,000. 



   

 h) Agents commission to be paid Rs. 8,000. Pass the necessary journal entries 

for the above. Omissions recomputed the fund and show the B/S after 

making the above adjustments. 

 JMæü iÑ™èþ ÁÐ@þ* çÜ…çÜ¦ ™èþ¯@þ ç³#çÜ¢M>ËÌZ iÑ™èþ ÁÐ@þ* °«̈ ° Ææÿ*. 20,00,000 V> Ð@þ$ÇÄ¶ý¬ BíÜ¢ 
Aç³šË ç³sìýtMæü Ððþ¬™èþ¢Ð@þ¬ Ææÿ*. 45,00,000 V> “Mìü…¨ ÑÐ@þÆ>Ë @̄þÐðþ*§æþ$Mæü$ Ð@þ¬…§æþ$ è̂þ*ç³# è̂þ$¯@þ²̈ . 

 a) B çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ÌZ ð̂þÍÏ… è̂þÐ@þËíÜ¯@þ JMæü Mðü•ÏÐŒþ$ Ææÿ*. 10,000. 

 b) ç³#çÜ¢M>ËÌZ 8 çÜ…Ð@þ™èþÞÆ>Ë$V> E¯@þ² ð̂þÍÏ… è̂þÐ@þËíÜ¯@þ Mðü•ÏÐŒþ$¯@þ$ Ææÿ§æþ$ª ç³Ææÿ è̂þÐ@þÌñý¯@þ$.             
Ææÿ*. 6,000. 

 c) Æ>Ð@þÍíÜ¯@þ òÜMæü*ÅÇsîýËOò³ Ð@þyìþz C…M> Æ>°¨ Ææÿ*. 800. 

 d) Ý÷…™èþ ¿¶ýÐ@þ¯@þÐ@þ¬ A§ðþª Ææÿ*. 2,000. 

 e) ç³#¯@þÈÂÐ@þ* “Mìü…§æþ ð̂þÍÏ…_ @̄þ {ï³Ñ$Ä¶ý$Ð@þ¬ Ææÿ*. 600. 

 f) ç³#¯@þÈÂÐ@þ* Ð@þçÜ*â¶ý$å Ææÿ*. 26,000. 

 g) {ï³Ñ$Ä¶ý$… ™èþWY…ç³#Mæü$ Ñ°Äñý*W…_¯@þ »Z¯@þ‹Ü Ææÿ*. 10,000. 

 h) ð̂þÍÏ… è̂þÐ@þËíÜ¯@þ Hf…r$Ï MæüÒ$çÙ¯Œþ Ææÿ*. 8,000.  

 Oò³ ÑÐ@þÆ>ËMæü$ AÐ@þçÜÆæÿOÐðþ$¯@þ _sêtË$ ^èþ*í³, Òsìý° †ÇW ÌñýMæüP Mæüsìýt, BíÜ¢, Aç³šË ç³sìýt Ððþ¬™èþ¢Ð@þ¬¯@þ$ 
çÜÆæÿ$ª»êr$ ó̂þÄ¶ý$…yìþ. 

Q15)Methods of Purchase Consideration. 

 Mö¯@þ$VøË$ {ç³†çœËÐ@þ¬ ÌñýMìüP…ç³# ç³§æþ®™èþ$Ë$. 

Q16) Distinguish between profit & loss Account and Profit & Loss appropriation    

account. 

 Ìê¿¶ý¯@þÚëtË Rê™é Ð@þ$ÇÄ¶ý¬ Ìê¿¶ý @̄þÚëtË Ñ°Äñý*W™èþ Rê™éË Ð@þ$«§æþÅ ™óþyéË$ {ÐéÄ¶ý¬Ð@þ¬. 

Q17) Methods for valuation of shares. 

 ÐésêË Ð@þÊÌêÅ…Mæü @̄þ ç³§æþ®™èþ$Ë¯@þ$ {ÐéÄ¶ý¬Ð@þ¬. 

Q18) Explain the various schedules to Profit & Loss Account and Balance Sheet of a 

Bank. 

 »ê…Mæü$ Ìê¿¶ý¯@þÚëtË Rê™é Ð@þ$ÇÄ¶ý¬ BíÜ¢ Aç³šË ç³sìýt Äñý¬MæüP ÑÑ«§æþ òÙyæþ*ÅÌŒýÞ̄ @þ$ {ÐéÄ¶ý¬Ð@þ¬. 

 
            ● ● ● ● ● 
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SECTION – A 

          Answer any Four of the following (4 × 4 = 16) 

 

  

Q1) Uses of Management Accounting. 

 °ÆæÿÓçßý×ý AMú…sìý…VŠü Eç³Äñý*V>Ë$. 
 

Q2) Capital expenditure budget and operating budgets. 

 Ð@þÊË«§æþ¯@þ QÆæÿ$a ºyðþjsŒý Ð@þ$ÇÄ¶ý¬ M>ÆæÿÅMæüÌê´ëË çÜ…º…«̈ …_¯@þ ºyðþjsŒý. 
 

Q3)  Cash flows from Financing activities. 

 Ñ™èþ¢ M>ÆæÿÅMæüÌê´ëË §éÓÆ> @̄þVæü§æþ$ {ç³ÐéçßýÐ@þ¬. 
 

Q4) Labour cost variance. 

 “Ô¶ýÐ@þ$ Ñ^èþÆæÿ×ý Ð@þÅÄ¶ý$Ð@þ¬. 
 
Q5) Importance of Financial Statements to Trade suppliers. 

 AÐ@þ$ÃMæüÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ç³…í³×îý§éÆæÿ$ËMæü$ BÇ®Mæü °Ðóþ¨MæüË {́ ëÐ@þ¬QÅ™èþ ÑÐ@þÇ…ç³#Ð@þ¬. 
 
Q6) Transactions that may cause the flow of fund. 

 ¯@þVæü§æþ$ {ç³ÐéçßýÐ@þ¬¯@þMæü$ çÜ…º…«̈ …_ Ð@þÅÐ@þàÆ>Ë$ ™ðþË$µÐ@þ¬. 
 
Q7) Examples for fixed expenditure. 

 íÜ¦Ææÿ QÆæÿ$aËMæü$ E§éçßýÆæÿ×ýÐ@þ¬Ë$. 
 
Q8) What are non-current Assets. 

 {ç³çÜ$¢™èþ BçÜ$¢Ë$M>° BçÜ$¢Ë$. 
 

SECTION – B 

          Answer any Two of the following (2 × 8 = 16) 



   

Q9) Write about the functions of Management Accountant. 

 Ðóþ$¯óþgŒýÐðþ$…sŒý AMú…sñý…sŒý Äñý¬MæüP Ð@þ¬QÅOÐðþ$¯@þ Ñ«§æþ$Ë$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q10)The following information at 50% capacity utilization of plant is given. 

Prepare a flexible budget and forecast profit and loss at 70% and 90% 

capacity utilization of plant. 

     Expenses at 50% capacity 

     �

Variable expenses:  

   Material 2,50,000 

   Labour 3,00,000 

   Others 50,000 

  Fixed Expenses:  

   Salaries 1,50,000 

   Rent and taxes 1,20,000 

   Administrative expenses 1,30,000 

  Total Sales 12,00,000 

 50 Ô>™èþÐ@þ¬ ÝëÐ@þ$Ææÿ®Å… Ð@þ§æþª ç³° ^óþÄ¶ý¬^èþ$¯@þ² ´ëÏ…r$Mæü$ çÜ…º…«̈ …_ @̄þ ÑÐ@þÆæÿÐ@þ¬Ë$ ¨Væü$Ð@þ 
C_a†Ç. §é°° B«§éÆæÿ…V> 70 Ô>™èþÐ@þ¬ Ð@þ$ÇÄ¶ý¬ 90 Ô>™èþÐ@þ¬ ÝëÐ@þ$Ææÿ®Å… Ð@þ§æþª ´ëÏ…r$ 
E™èþµ†¢ ^óþíÜ¯@þ^ø è̂þÆæÿ ºyðþjsŒý ™èþÄ¶ý*Ææÿ$ ^óþíÜ Ìê¿¶ý…/¯@þçÙtÐ@þ¬ ÌñýMìüP…ç³#Ð@þ¬. 

     50 Ô>™èþÐ@þ¬ ÝëÐ@þ$Ææÿ®Å… Ð@þ§æþª QÆæÿ$aË$ 
     Ææÿ*.  
  ^èþÆæÿÐ@þÅÄ¶ý*Ë$ :---  
   Ððþ$sîýÇÄ¶ý$ÌŒýÞ 2,50,000 
   “Ô¶ýÐ@þ$  3,00,000 
   C™èþÆæÿ QÆæÿ$aË$ 50,000 
  íÜ¦Ææÿ QÆæÿ$aË$ : Ææÿ*. 
   i™éË$ 1,50,000 
   A§ðþª Ð@þ$ÇÄ¶ý¬ ç³¯@þ$² 1,20,000 
   °ÆæÿÓçßý×ý QÆæÿ$aË$ 1,30,000 
  AÐ@þ$ÃM>Ë$ Ððþ¬™èþ¢Ð@þ¬ 12,00,000 

     

Q11)From the following information calculate Material Cost Variances. 

                          Standard                                        Actuals 

   Product Quantity Rate per Product Quantity Rate per 



   

    k.g. unit  k.g. unit  

    � �  

  P 1100 24.00 P 1080 25.00 

  Q 1050 30.00 Q 1060 32.00 

  R 1120 40.00 R 1130 36.00 
 ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ Ððþ$sîýÇÄ¶ý$ÌŒý Ð@þÅÄ¶ý$ Ñ^èþÆæÿ×ýË¯@þ$ ÌñýMìüP…ç³#Ð@þ¬. 

                            {́ ëÐ@þ*×ìýMæü           ÐéçÜ¢Ð@þ 

   Ð@þçÜ$¢Ð@þ#Ë$ ç³ÇÐ@þ*×ýÐ@þ¬ Ä¶ýÊ°sŒý Ð@þçÜ$¢Ð@þ#Ë$ ç³ÇÐ@þ*×ýÐ@þ¬ Ä¶ýÊ°sŒý 
    k.g. JMìüP…sìý «§æþÆæÿ  k.g. JMìüP…sìý «§æþÆæÿ    

  P 1100 24.00 P 1080 25.00 

  Q 1050 30.00 Q 1060 32.00 

  R 1120 40.00 R 1130 36.00 
 
Q12)From the following Two Balance Sheets of ABC Company Ltd. as at               

31-03-2014 and 31-03-2015. Prepare a Funds Flow Statement. 

Liabilities  31-03-14     31-03-15            Assets 31-03-2014 31-03-2015 

            � � � � 

Equity share 10,00,000 10,50,000 Land and  

Capital@10 each    Buildings 5,50,000 6,00,000 

Reserves& Surplus 60,000 50,000 Plant 7,20,000 6,80,000 

11% debentures   2,00,000 xx Motor Car 3,40,000 3,20,000 

Creditors   4,27,000 5,30,000 Goodwill 5,000 3,000 

Provision for    Inventory 70,000 52,000 

Taxation  70,000  80,000 Debtors 62,000 47,000 

      Cash 10,000 8,000 

   17,57,000 17,10,000  17,57,000 17,10,000 

 

 

 

 

 

ABC Mæü…ò³± ÐéÇ ¨Væü$Ð@þ ™ðþÍí³¯@þ BíÜ¢ Aç³šË ç³sìýtMæüË ¯@þ$…yìþ °«§æþ$Ë çÜÓ™èþ…{™èþ °Ðóþ¨Mæü ™èþÄ¶ý*Ææÿ$ 
^óþÄ¶ý¬Ð@þ¬. 
    Aç³šË$      31.03. 14  31.03.15          BçÜ$¢Ë$ 31.03.14 31.03.15 
   Ææÿ*. Ææÿ*.  Ææÿ*. Ææÿ*. 
DMìüÓsîý Ðésê    ¿¶ý*Ñ$ Ð@þ$ÇÄ¶ý¬  



   

Ð@þÊË«§æþ¯@þÐ@þ¬     ¿¶ýÐ@þ¯éË$ 5,50,000 6,00,000 
Ðésê JMìüP…sìýMìü    ´ëÏ…r$ 7,20,000 6,80,000 
Ææÿ*. 10  10,00,000 10,50,000 Ððþ*sêÆæÿ$ M>Ææÿ$ 3,40,000 3,20,000 
ÇfÆæÿ$ÓË$ Ð@þ$ÇÄ¶ý¬   Væü$yŠþÑÌŒý 5,000 3,000 
Ñ$Væü$â¶ý$å   60,000 50,000 
11% yìþ»ñý… è̂þÆæÿ$Ï  2,00,000 xx ÝëtMæü$ 70,000 52,000 
º¬×ý§é™èþË$  4,27,000 5,30,000 º¬×ý“VæüçÜ$¢Ë$ 62,000 47,000 
ç³¯@þ$² OMðü HÆ>µr$  70,000 80,000 ¯@þVæü§æþ$ 10,000 8,000 
  17,57,000 17,10,000  17,57,000 17,10,000 
           

SECTION – C 

      Answer any Three of the following (3 × 16 = 48) 

                                   
Q13) Discuss the objects and functions of Management Accounting. 
 °ÆæÿÓçßý×ý AMú…sìý…VŠü §óþÅÄ¶ý*Ë$, Ñ«§æþ$Ë¯@þ$ è̂þÇa…^èþ$Ð@þ¬. 

 

Q14)From the following information prepare raw material production budget. 

 2015 year: January February March April May  June 

 Expected Sales 1,20,000 1,52,000 1,60,000 1,84,000 1,90,000  2,00,000 

  (Units) 

 Closing stock 40,000 50,000 72,000 80,000 86,000 94,000 

  (Units) 

 Assume that Material cost per unit is � 20 for period January to June, 2015 

 ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ Æ>Ððþ$sîýÇÄ¶ý$ÌŒý E™èþµ†¢ ÑË$Ð@þ ÌñýMìüP…ç³#Ð@þ¬. 

 2015 çÜ….  f¯@þÐ@þÇ íœ{ºÐ@þÇ Ð@þ*ÆŠÿa H{í³Ä¶ý$ÌŒý  Ðóþ$   l¯Œþ 

 A…^èþ¯é AÐ@þ$ÃM>Ë$ 1,20,000 1,52,000 1,60,000 1,84,000 1,90,000  2,00,000 

  Ä¶ýÊ°rÏÌZ  

 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ 40,000 50,000 72,000 80,000 86,000 94,000 

  Ä¶ýÊ°rÏÌZ 



   

 Ððþ$sîýÇÄ¶ý$ÌŒý JMöPMæüP Ä¶ýÊ°sŒý «§æþÆæÿ Ææÿ*. 20 Ë$ V> ¿êÑ… è̂þÐ@þÌñý¯@þ$. Ððþ$sîýÇÄ¶ý$ÌŒý «§æþÆæÿ f¯@þÐ@þÇ 

¯@þ$…yìþ l Œ̄þ 2015 Ð@þÆæÿMæü$ Ð@þ*Ææÿa Ìôý§æþ° ¿êÑ…ç³Ð@þÌñý¯@þ$.  

 

Q15)At 40% capacity utilization of plant, units produced are 3200. The costs 

incurred as follows: 

      Per unit 

      �

Direct Material 36-00 

   Direct labour 28-00 

   Direct expenses 06-00 

   Selling and distribution  expenses           10-00 (70% variable) 

   Other fixed cost 15-00 

   Selling price per unit 120-00 

 Prepare a flexible budget at 60% and 80% capacity utilization of plant and 

ascertain profit position.  

  

 ´ëÏ…sŒý 40 Ô>™èþÐ@þ¬ ÝëÐ@þ$Ææÿ®ÅÐ@þ¬ Ð@þ§æþª E™èþµ†¢ ^óþÄ¶ý¬ Ð@þçÜ$¢Ð@þ#Ë$ 3200. Ðésìý E™èþµ†¢ QÆæÿ$aË$ 

¨Væü$Ð@þ C_a†Ç. 

     JMæü Ä¶ýÊ°sŒý «§æþÆæÿ 

     Ææÿ*. 

  {ç³™èþÅ„æü Ððþ$sîýÇÄ¶ý$ÌŒý 36&00 

  {ç³™èþÅ„æü “Ô¶ýÐ@þ$  28&00 



   

  {ç³™èþÅ„æü QÆæÿ$aË$ 06&00 

  AÐ@þ$ÃM>Ë$ Ð@þ$ÇÄ¶ý¬ ç³…í³×îý QÆæÿ$aË$                10&00  (70 Ô>™èþÐ@þ¬ ^èþÆæÿ QÆæÿ$aË$) 

  C™èþÆæÿ íÜ¦Ææÿ QÆæÿ$aË$ 15&00 

  AÐ@þ$ÃMæüÐ@þ¬ ÑË$Ð@þ (JMæü Ä¶ýÊ°sŒý) 120&00 

 Oò³ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ 60 Ô>™èþÐ@þ¬ Ð@þ$ÇÄ¶ý¬ 80 Ô>™èþÐ@þ¬ ÝëÐ@þ$Ææÿ®ÅÐ@þ¬ Ð@þ§æþª ´ëÏ…sŒý¯@þ$ 

Ñ°Äñý*W…_¯@þ Äñý$yæþË Ðésìý B«§éÆæÿ…V> ^èþÆæÿºyðþjsŒýÞ̄ @þ$ ™èþÄ¶ý*Ææÿ$ ^óþíÜ Ìê¿¶ýÐ@þ¬ 

ÌñýMìüP…ç³#Ð@þ¬. 

 

Q16)Mr. ‘X’ has furnished the following information. 

  Net loss  � 80,000 

  Fixed costs � 4,00,000 

  Profit Volume Ratio 40 % 

 Compute: 

a) Variable costs 

b) Contribution 

c) Break-even sales 

d) Margin of safety 

  
 } ‘X’ ¨Væü$Ð@þ C_ā @þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ ÌñýMìüP…^èþ…yìþ.  

a) ^èþÆæÿ Ð@þÅÄ¶ý*Ë$ 
b) Mæü…{sìýº*ÅçÙ¯Œþ 
c) çÜÐ@þ$™èþ$ËÅ ç³Ç^óþa§æþ AÐ@þ$ÃM>Ë$ Ð@þ$ÇÄ¶ý¬ 

d) Ææÿ„æü×ý ç³ÇÑ$† 

°MæüÆæÿ ¯@þçÙtÐ@þ¬ Ææÿ*. 80,000 
íÜ¦Ææÿ QÆæÿ$aË$  Ææÿ*. 4,00,000 
Ìê¿¶ý ç³ÇÐ@þ*×ý °çÙµ†¢ 40 Ô>™èþÐ@þ¬ 

 
Q17)From the following information calculate: 



   

a) Payback period. 

b) Net present value and 

c) Profitability Index. 

  Year   Project “P” Project “Q” 

     � � 

  0 Capital invested CFAT 5,00,000 5,00,000 

  1 1,72,000 2,26,000 

  2 1,56,000 2,33,000 

  3 1,80,000 1,91,000 

  4 1,10,000 94,000 

  5 72,000 1,00,000 

 Take values at present value factor 10%  
 ̈ Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ 
a) †ÇW ^ðþÍÏ…ç³# M>ËÐ@þ¬. 

b) Ìê¿¶ý§éÄ¶ý$Mæü™èþ çÜ*` Ð@þ$ÇÄ¶ý¬ °MæüÆæÿ {ç³çÜ$¢™èþ ÑË$Ð@  ÌñýMìüP…ç³#Ð@þ¬.  
yìþÝûP…sŒý Æóÿr$ 10 Ô>™èþÐ@þ¬.  

çÜ…Ð@þ™èþÞÆæÿÐ@þ¬  {́ ëgñýMæü$t “P” {́ ëgñýMæü$t “Q”  
    Ææÿ*. Ææÿ*. 
 0  ò³r$tºyìþ Ððþ¬™èþ¢Ð@þ¬ 5,00,000 5,00,000 
  ¯@þVæü§æþ$ Æ>ºyìþ 
 1   1,72,000 2,26,000 
 2   1,56,000 2,33,000 
 3   1,80,000 1,91,000 
 4   1,10,000 94,000 
 5   72,000 1,00,000 
 

Q18)From the following Two Balance Sheets of PQR Limited Company, 

prepare a Cash Flow Statement. 

 Liabilities 2013-14 2014-15 Assets 2013-14 2014-15 

           � � � � 

Equity share     Plant and   

capital   5,00,000 5,70,000 Machinery 5,60,000 6,00,000 

Share premium 40,000 50,000 Patent 60,000 40,000 

Profit and Loss   Motor Car 3,20,000 4,00,000 

Account   76,000 84,000 Stock 77,000 67,000 

Bank OD   3,00,000 2,60,000 Debtors 34,000 28,000 

Creditors   80,000 1,00,000 Bank 20,000 13,000 



   

Rent payable  75,000 84,000 

    10,71,000 11,48,000  10,71,000 11,48,000 

 

PQR ÍÑ$sñýyŠþ Mæü…ò³± ÐéÇ BíÜ¦ Aç³šË ç³sìýtMæüË ¯@þ$…yìþ ¯@þVæü§æþ$ {ç³Ðéçßý °Ðóþ¨Mæü ™èþÄ¶ý*Ææÿ$ 
^óþÄ¶ý$…yìþ. 
 Aç³šË$  2013&14 2014&15 BçÜ$¢Ë$ 2013&14 2014&15 
    Ææÿ*. Ææÿ*.  Ææÿ*. Ææÿ*. 
DMìüÓsîý Ðésê    ´ëÏ…sŒý Ð@þ$ÇÄ¶ý¬  
Ð@þÊË«§æþ¯@þÐ@þ¬  5,00,000 5,70,000 Ä¶ý$…{™éË$ 5,60,000 6,00,000 
Ðésê {ï³Ñ$Ä¶ý$Ð@þ¬ 40,000 50,000 õ³sñý…sŒý 60,000 40,000 
Ìê¿¶ý, ¯@þÚëtË Rê™é 76,000 84,000 Ððþ*sêÆæÿ$ M>Ææÿ$ 3,20,000 4,00,000 
»êÅ…Mæü$ KÐ@þÆŠÿ {yé‹œt 3,00,000 2,60,000 ÝëtMæü$ 77,000 67,000 
º¬×ý§é™èþË$  80,000 1,00,000 º¬×ý“VæüçÜ$¢Ë$ 34,000 28,000 
^ðþ_Ï… è̂þÐ@þËíÜ¯@þ A§ðþª 75,000 84,000 »êÅ…Mæü$ 20,000 13,000 
    10,71,000 11,48,000  10,71,000 11,48,000 
 
 

� � � 

 


